MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F
MNMpueogp,




MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F

MNMpueogp,
Io3s. HaumeHoBaHue ApTHKYJI
001 Tabnmuka maeHTH(PUKATHOHHAS MK?7,011.001
002 JBurarenb 168F MK7,011.002
003 I"atika M8 MK7,011.003
004 [bont M8x45 MK7,011.004
005 [laitka M8 MK7,011.005
006 |I"aiika M8 MK?7,011.006
008 [["aiika M10 MK7,011.008
009 [HInmuaska M8 MK7,011.009
010 [Brymka MK7,011.010
011 IlectepHs manast V05008
012 IlpyxrHa HaTSHKUTEIS V05213
013  [BuHT ycraHOBOYHBIM M6%10 MK7,0I1.013
014 IIIxkuB gBUTATEIS Y05214
015 |llInonka MK7,011.015
016 |lllaiiba 8 MK7,011.016
017 |[bont M8x25 MK7,011.017
018 |bont M8x20 MK7,011.018
019 Brynka MK?7,0I1.019
020 |Illaiiba 8,5%25x%1,5 MK7,011.020
021 TTogmmmuank 60007 Y00070
023 Peruar HaTsbkuTens "snepén” Y05209
025 Ponuk natspkurens "Buepén’” MK?7,011.025
0214025 |Ponuk HaTspxkuTens "Buepén’ ¢ noanmmnaukoM 6000z vY05242
026 boar M10 MK7,011.026
021-026 |Ponuk HaTspkutens "suepén' ¢ noammnaukoM 6000z u peluarom Y05243
027  |bont M8x40 MK7,011.027
028 Toammmuauk 6003z VvV01223
029  [KoussbIio cronopHoe 35 (BHYTp.) Y00079
030 |Brynka MK?7,011.030
031 IllecTepus Gospmast co MKUBOM "Hazan" Y05007
032  |lllaii6a 8,5x20x4 MK7,011.032
033 [Iaiika M8 MK?7,011.033
034 |YcnokouTenab pemMHs MK7,011.034
035 [laiika M8 MK7,011.035
036 |boatr M8x16 MK?7,011.036
037  |Bontr M8x35 MK?7,011.037
038 Ponuk HaTsoxuTena "Hazan'" ¢ noanmmnHEuKoM 6087 Y05245
040  [IIpyxuHa HaTsHKUTENS Y05213
042  |[bont M8x25 MK7,011.042
043 1lati0a 8,5%25%1,5 MK7,011.043
044 Poruar HaTspxkuTens nepejgayuu "Hazan" V05221
045 Brynka MK?7,001.045
046  [laitka M8 MK7,011.046
037+038+ Ponuk HaTspxkuTens "Hazaa" ¢ moaummHUKOM 608 U peryarom Y05244
044-046
047 CynmopT TpaHCMHUCCHU MK?7,011.047
206  |[Itudgr @6x27 MK7,011.206
207  |lIIkuB 6OTBINON ABYXPYIBEBBIM 3 CITUIIBI MK7,0L(WD).207
208 Pemens V13x1035 (13x1070) neukenns "repén” Y05011.13
230 Pemens nmkenus "Hazan'Z914Li; Z900Li; (V10%x930) Y05010




MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F
OpraHbl ynpasneHua

/ 102 108
/_




‘

Asuratenb 168F

OpraHbl ynpasneHua

MotoKynbtusartop «Kannbp MK-7,0LL»

Ios3. HaumeHoBanmue ApTHKYJI

101 |["aitka M6 MK?7,011.101
102  [Axkceneparop MK7,0L1.102
103 |boaT M6%60 MK?7,011.103
104 |PykosiTka ympaBieHUs MK?7,0L1.104
105 [PykosiTka pe3nHOBast MK7,0L1. 105
106  |Ppruar ynpaBieHUsI JBUKEHUEM MK?7,0II(WD).106
107 |Cko0Oa kpenéxHas MK7,0L1.107
108  [Pbruar ympaBieHUs ABUKEHUEM MK?7,0II(WD).106
109 |T"aiika OapamikoBast M8 MK7,0L1.109
110 |bonT M8x50 MK?7,011.110
111 |Tpoc nBuxenus Buepén L=110-90 ¥05202

112 |KpoHIITENH PYKOATKH YIPABIICHUS TPaBbIA MK7,0L0.112
113 [KpOHIUTENH PYKOSITKA YIIPABJICHUS JICBBIN MK?7,011.113
114 |T[aiika M8 MK?7,011.114
115 |boatr M8x120 MK?7,01L.115
116 |Tpoc akcenmeparopa Y05006

102+116 | Axkcenepatop B cOope ¢ TPOCOM Y05002
117 |Tpoc nBuxenust Hazan [=135-95 ¥05204




MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F
Pama




MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F

Pama

Ios3. HaumMeHoBaHue ApTHKYJI
201 [T"arika M6 MK?7,011.201
202 |ITamen D10x40 Y05212
203 |Perynsitop mi1yOMHBI BCHIAIIKU Y05005
204 |bont M6x30 MK?7,011.204
205 |lnnuHT npyKUHHBIA 2%35 Y03860
209 |l'arika M8 MK7,011.209
210 |JIoHkepOoH mpaBblil MK7,0L1.210
211 |Brynka coequHUTEIbHAS MK7,00L1.211
212 |JIoHXEpOH JIEBBIN MK7,00L1.212
213 |bont M8x45 MK?7,011.213
214 |Koxyx mpuBOa 3alIATHBIN MK?7,011.214
215 |Tabnuuxka (J1310) MK7,0L1.215
216 |Bunt M5 MK7,00L1.216
217 |Bunt M5 MK7,00L1.217
218 |Kpsuro npasoe MK7,0L1.218
219 |l"aiika M5 MK7,0L1.219
220 |(IInardopma MK7,011.220
221 |bont M8x16 MK7,011.221
223 |Bunt M5 MK7,011.223
224 |KpsLio jgeBoe MK'7,0L1.224
225 |l'aitka M5 MK'7,011.225
226 |l'aitka M8 MK'7,011.226
227 |llpenynpexaaronmi 3HaK MK7,001.227
228 |lIpenynpexaaromnmi 3HaK MK7,0L1.228
229 |Brynka 8x16%8,5 MK'7,011.229




MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F
PepykTtop




Asuratenb 168F

MotoKynbtusartop «Kannbp MK-7,0LL»

PepykTtop

Io3. HaumeHoBaHMe APTHKYJI

300 |Kopnyc peaykropa npaBbId MK'7,011.300
301 [(IlommmmHauK MK'7,0L1.301
303 |3BE3m0UYKa peayKTopa Majias ¢ BaJioM MK'7,011.303
305 |(IlommmmHuKk MK'7,0L1.305
307 |Kopnyc peaykropa JICBbIM MK?7,011.307
309 |l"aiika MK7,0L1.309
310 |(IlommmmHuK MK?7,011.310
312 |3Bé3gouka peaykropa Oosblias ¢ Bajom | MK7,011.312
314 |llogumIimHuUK MK?7,011.314
315 |[bonT MK7,00L1.315
316 |Brynka MK?7,011.316
317 |IIpoOka MK?7,011.317
318 |Llenb MK?7,001.318
319 |Penykrop B coope MK?7,011.319




MotoKynbtusartop «Kannbp MK-7,0LL»
Asuratenb 168F
bnok ¢pes




Asuratenb 168F

MotoKynbtusartop «Kannbp MK-7,0LL»

bnok ¢pes

Ios3. HaumeHoBaHue ApPTHKYJI
401 |DukcaTop ONMOPHOTO KPOHIITEWHA KOJIEC Y05241
402 |IIpyxuna ukcaropa kpoHureiHa kojéc Q14 L=47mm ¥05249
403 |[Mait6a 10x22x1,5 MK7,011.403
404 |IloauHT pazBogHoi 2%x22 DIN 94 Y03293
405 |KpOHIITENH KOJIEC ONMOPHBIN Y05246
406 |l"aiixa M10 MK?7,011.406
407 |[Ilait6a 10x30x2 MK7,011.407
408 |Koueco B coope 7%1,5; 7x1,75 @170mMm Y05004
409 |Brynka koseca D20 MK?7,011.409
411 |boatr M10x60 MK7,011.411
413 |Crynuua ¢pessl kKoHeuHass OBH. 41 MM MK7,011.413
414 |I[Tamen; kpensenus gpesb D 10x60 Y05210
415 |lInauHT Y05211
416 |JIe3Bue neBoe MK?7,011.416
417 |Crynuua ¢pe3sbl nmpoxogHas PBH. 35mm, Quap. 40mMMm MK7,011.417
418 |l"aiixa M10x1,0 MK7,011.418
419 |boar M10x1,0x60 MK7,011.419
420 |JIe3Bue mpasoe MK7,00L1.420
421 |®Ppes3a npaBas 1 B coope MK?7,011.421
422 |®pe3a nmpaBas 2 B cOope MK?7,011.422
423 |Dpe3a npaBas 3 B cOope MK?7,011.423
424 |Dpesza npaBas 3 B cOope MK?7,011.424
425 |®pes3a npaBas 2 B cOope MK7,011.425
426 |Dpe3a npaBas 1 B coope MK7,011.426
427 |Crynuua ¢pessl npoxogHas OBH. 35mm, OHap. 40Mm MK7,011.427
428 |Ilanen kpemnenus gpessr G10x40 Y05212

10




